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Type checking can be of two types:-
1. Static: Done during compilation time. This reduces the run time of the program and the code generation is also faster.

2. Dynamic: Done during run time. Due to this the code gets inefficient and it also slows down the execution time. But it adds to the flexibility of the program.

Types:
1. Basic Types: int, real, bool, char.

2. Arrays:  as Array ( length , type ).

3. Function Arguments:  as  T1 x T2 x T3 x ……… x Tn.

4. Pointer: as Pointer ( T ) .

5. Named Record :

                                  If there is a structure defined as :-

                         struct  record

                          {

                                int length;

                                 char word[10];

                           };

                       Then its type will be constructed as….

                  (length x integer) x (word x array(10,char))

      6.Function: it maps element of one set to another i.e. from domain to range as 

                          (D)((R)

                               or

                           T1 ( T2

Consider a simple C language:

1. P ( D ; E

2. D ( D ;D | id : T

3. T ( char | integer | array[num] of T

4. E ( literal | num | id | E mod E | E[E]

Corresponding Actions:

1. T ( char :  {T.type=char}

2. T ( integer: {T.type = integer}

3. D(id : T  :   { AddEntry(id.entry,T.type)}

4. T(array[num] of T1 : {T.type = Array(num,T1.type)}
5. E(literal : { E.type =  char }

6. E(num :  { E.type =  iniger }

7. E(id   :{E.type =  lookup(id.type)}

8. E(E1mod E2: {   

                                    if(E1.type==int) && (E2.type == int)

                                        then E.type = int

                                    else type error

                                 }

9. E ( E1 [E2] :{

                                  if(E2.type == int & E1.type == array(s,t))

                                     then   E.type = t

                                 else type error

                              }

